Corrections and Modifications to 2016 EA-2F Exam Solutions
(updated 10/30/2017)

Question 6:
There was an error in the determination of the RPA’94 full funding limit. The current liability should be $4,300,000, not $4,330,000. There is no change in the final solution, but the corrected RPA’94 full funding limit is:


RPA’94 full funding limit12/31/2017 



= [90% ( (4,300,000 + 550,000) × 1.05] – (3,900,000 ( 1.07)


= 410,250

Question 25:
The reference to “funding balance” at the end of the first sentence of the solution should read “funding target.”

Question 27:
The second paragraph of the solution should be replaced as follows:

It is assumed that there is a 100% probability that a lump sum is elected. For funding purposes, the plan mortality assumptions are used post-retirement (applicable mortality table, in this question), the IRC section 430 mortality is used for pre-retirement mortality, and the segment rates are used both pre-retirement and post-retirement.


Also, the reference to “segment 5” in the fifth paragraph should be “segment 3.”
